Slip 1, knit 4, slip 1, K2tog, psso, knit 4, purl 1. You now have 11 stitches.

Slip 1, knit 3, slip 1, K2tog, psso, knit 3, purl 1. You now have 9 stitches.

Row 8 Slip 1, knit 2, slip 1, K2tog, psso, knit 2, purl 1. You now have 7 stitches.
Row 10 Slip 1 knit 1, slip 1, K2tog, psso, knit 1, purl 1. You now have 5 stitches.
Row 12 Slip 2, K2tog, psso, purl 1. You now have 3 stitches.

Row 14 Slip 1, K2tog, psso.

Cut yarn, leaving a 3" tail, and draw the tail through the final stitch.

Using cc A, knit two more squares exactly like the first. You have now
completed Squares #1, 2, and 3 (see layout, page 90).

JOINING THE BOTTOM SQUARES

SeT Up Place two of the squares side by side with corners touching and with the
decrease line running vertically from the bottom corner to the top.

“ead’ & Tail, __—ending tail

If you keep this orientation in mind, you'll find

it's easier to stay on track while making this

scarf: The tail for the cast-on is always at

the right when you're working on the

right side of the scarf. The tail remaining

from the last stitch is always at the top.

The line that marks the decreases and

runs from bottom to top corners should be

vertical throughout the scarf. One diamond

beginning tail
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